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Abstract. The general Black–Scholes model with random coefficients depending on the para-
meter is studied. Sufficient conditions that provide convergence of option prices for European barrier
option are obtained.
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Bn(t) = exp
{∫ t

0

rn(s) ds
}
,

Sn(t) = S0
n exp

{∫ t

0

μn(s) ds+
∫ t

0

σn(s) dW (s)
}
, n ∈ Z+, t ∈ [0, T ],
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� W = {Wt,Ft, t ≥ 0} 6 ����
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n 6 
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�#�� σn 2 ��
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���������r rn(t) ≥ 0; σn(t) > 0 P-���� 
�� ���� t ∈ [0, T ]; � ���
����'
��� $ 
������� 5�7 ����%��; ����� P-���� 
�� ���� t > 0∫ t

0

rn(s) ds <∞,

∫ t

0

|μn(s)| ds <∞,

∫ t

0

σ2
n(s) ds <∞. 5]7
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Xn(t) = S0
n exp

{∫ t

0

μ̂n(s) ds+
∫ t

0

σn(s) dW (s)
}
, n ∈ Z+,

μ̂n(s) = μn(s)− rn(s), n ∈ Z+.
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(Sn(T )−Kn)+I
{

max
0≤t≤T

Sn(t) < Hn

}
,


� Kn 6 ��
������ #���; Hn > S0
n 6 ��
�2
�
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dP ∗
n

dP

∣∣∣∣
Ft

= exp
{∫ t

0

ζn(s) dW (s)− 1
2

∫ t

0

ζ2
n(s) ds

}
,


�

ζn(s) = −μn(s)− rn(s)
σn(s)

− 1
2
σn(s).

/ 
�$� ��������� �����

E exp
{

1
2

∫ t

0

ζ2
n(s) ds

}
<∞ 5!7
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Cn = EP∗
n

(
exp

{
−

∫ T

0

rn(t) dt

}
(Sn(T )−Kn)+I

{
max

0≤t≤T
Sn(t) < Hn

})
. 597

S�$������ �������� <⇒= ������ $��(����� �������������
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�$�� [0, T ]�
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�$�� [0, T ] ���(��� I ⊂ R+�
S�$������ TI := I ∩ [0, T ]� S�$������ ����( LTI ���� ���� �����
��������

αk = {0 = t0k < t1k < . . . < tkT k < T }
���������� 
�$������ ��

�$�� [0, T ]; ?� $�
�������%�� �������� �����Y

�7 αk ⊆ αk+1 ⊆ TI ;
]7 ��� ��
�-���'� t ∈ TI ����2 k(t); ���� ?� t ∈ αk 
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S�$������
�jkx := x(tj k)− x(tj−1 k), �jk := tj k − tj−1 k,

ωj kx = sup
tj−1 k≤s<t≤tj k

|x(t)− x(s)|,

kt = sup{j : tjk ≤ t}.
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�7 S0
n → S0

0 ) Hn → H0) Kn → K0) n→∞*
]7 (rn(t), μ̂n(t), σn(t))) t ∈ TI ⇒ (r0(t), μ̂0(t), σ0(t))) t ∈ TI ) n→∞*
:7 supn≥0 E sup0≤t≤T |yn(t)| <∞) y = μ̂, r, σ2, (μ̂/σ)2)
!7 limδ→0 lim supn→∞ E sup0≤t<s≤t+δ≤T |zn(s)− zn(t)| = 0) z = μ̂, r)

lim
δ→0

lim sup
n→∞

E sup
0≤t<s≤t+δ≤T

|zn(s)− zn(t)|2 = 0,

z = σ, μ̂/σ*

97 P
(
max0≤t≤T X0(t) exp

{∫ T

0
r0(s) ds

}
= H0

)
= 0*

@7 9���� ���� ε > 0) -


sup
n≥0

E

[
exp

{
(1 + ε)

∫ T

0

(
1
2
σn(s)− μ̂n(s)

σn(s)

)2

ds

}]
<∞.

+
�� Cn → C0 ��� n→∞.
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Cn = EP∗
n

⎛⎝(
Xn(T )−Kn exp

{
−

∫ T

0

rn(t) dt

})+

I {Mn(T ) < Hn}

⎞⎠
= E

⎛⎝dP ∗
n

dP

(
Xn(T )−Kn exp

{
−

∫ T

0

rn(t) dt

})+

I {Mn(T ) < Hn}

⎞⎠
= E

(
(αn(T )− βn(T ))+I {Mn(T ) < Hn}

)
,


�

Mn(T ) = max
0≤t≤T

Xn(t) exp

{∫ T

0

rn(t) dt

}
,

αn(t) = S0
n exp

{∫ t

0

μ̂n(s) ds+
∫ t

0

σn(s) dW (s) +
∫ t

0

(
− μ̂n(s)
σn(s)

− 1
2
σn(s)

)
dW (s)

− 1
2

∫ t

0

(
μ̂n(s)
σn(s)

+
1
2
σn(s)

)2

ds

}

= S0
n exp

{∫ t

0

(
1
2
σn(s)− μ̂n(s)

σn(s)

)
dW (s)

+
∫ t

0

(
1
2
μ̂n(s)− 1

2

(
μ̂n(s)
σn(s)

)2

− 1
8
(σn(s))2

)
ds

}
,
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βn(t) = Kn exp

{∫ t

0

(
− μ̂n(s)
σn(s)

− 1
2
σn(s)

)
dW (s)− 1

2

∫ t

0

(
μ̂n(s)
σn(s)

+
1
2
σn(s)

)2

ds

}

× exp
{
−

∫ t

0

rn(s) ds
}

= Kn exp

{∫ t

0

(
−1

2
μ̂n(s)− 1

2

(
μ̂n(s)
σn(s)

)2

− 1
8
(σn(s))2 − rn(s)

)
ds

+
∫ t

0

(
− μ̂n(s)
σn(s)

− 1
2
σn(s)

)
dW (s)

}
.
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f1(x) = max
0≤t≤T

x(t)

��

f2(x) = (x(T )−K)+

� ������'�� ���
���
�; 
�� 
���
���� ������� $��(����� �����
������ ��
; ?� ��
��-
��
�%�� �
�#����

(αn(·)− βn(·))+I
{

max
0≤s≤·

Xn(s) exp
{∫ ·

0

rn(s) ds
}
< Hn

}
,


�������� 
������ ������ $��(����� �����
������ ��
; ?� ��
����
�%�� ����������
��������� ����'
����∫ ·

0

rn(s) ds,
∫ ·

0

μ̂n(s) ds,
∫ ·

0

σn(s) dW (s),
∫ ·

0

μ̂n(s)
σn(s)

dW (s),∫ ·

0

(
μ̂n(s)
σn(s)

)2

ds,

∫ ·

0

(σn(s))2 ds.

��� #��'�; � ���% ��
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�������� 
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; ?�
��
����
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�

a1

∫ ·

0

μ̂n(s) ds+ a2

∫ ·

0

σn(s) dW (s) + a3

∫ ·

0

μ̂n(s)
σn(s)

dW (s) + a4

∫ ·

0

(
μ̂n(s)
σn(s)

)2

ds

+ a5

∫ ·

0

(σn(s))2 ds+ a6

∫ ·

0

rn(s) ds, ai ∈ R, 1 ≤ i ≤ 6.
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��� ��

������
���� ������
���'���∫ t

0

ξn(s) dX(s) =
∫ t

0

ξ1n(s) dX1(s) +
∫ t

0

ξ2n(s) dX2(s)

=
∫ t

0

(
a1μ̂n(s) + a4

(
μ̂n(s)
σn(s)

)2

+ a5(σn(s))2 + a6rn(s)

)
ds

+
∫ t

0

(
a2σn(s) + a3

μ̂n(s)
σn(s)

)
dW (s).
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lim
C→∞

lim sup
n→∞

P

{
sup

0≤t≤T

∣∣ξ1n(t)
∣∣ ≥ C

}
= 0, 5"7

lim
C→∞

lim sup
n→∞

P

{
sup

0≤t≤T

∣∣ξ2n(t)
∣∣ ≥ C

}
= 0, 5 7

lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

ωikξ
1
n�ik = 0, 5�Z7

lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

ωikξ
2
n�ik = 0. 5��7
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lim
C→∞

lim sup
n→∞

P

{
sup

0≤t≤T

∣∣ξ1n(t)
∣∣ ≥ C

}
= lim

C→∞
lim sup

n→∞
P

{
sup

0≤t≤T

∣∣∣∣∣a1μ̂n(t) + a4

(
μ̂n(t)
σn(t)

)2

+ a5(σn(t))2 + a6rn(t)

∣∣∣∣∣ ≥ C

}

≤ lim
C→∞

lim sup
n→∞

P

{
sup

0≤t≤T
|μ̂n(t)| ≥ C

}
+ lim

C→∞
lim sup

n→∞
P

{
sup

0≤t≤T

∣∣∣∣ μ̂n(t)
σn(t)

∣∣∣∣ ≥ C

}
+ lim

C→∞
lim sup

n→∞
P

{
sup

0≤t≤T
|σn(t)| ≥ C

}
+ lim

C→∞
lim sup

n→∞
P

{
sup

0≤t≤T
|rn(t)| ≥ C

}
= 0.
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��&���� 5 7 
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lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

ωikξ
1
n�ik

= lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

|ξ1n(t)− ξ1n(s)|�ik

≤ |a1| lim
k→∞

lim sup
n→∞

E
kT +1∑
i=1

ωikμ̂n�ik

+ |a4| lim
k→∞

lim sup
n→∞

E
kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

∣∣∣∣∣
(
μ̂n(t)
σn(t)

)2

−
(
μ̂n(s)
σn(s)

)2
∣∣∣∣∣�ik

+ |a5| lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

∣∣(σn(t))2 − (σn(s))2
∣∣�ik

+ |a6| lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

ωikrn�ik.

S�
&�� �� �������� 
�
���� 
�
���%%�� ���% $� �����% !7� ����
���; ?� 

�-
'�� � �
���� 
�
���� $�$������� ���� ��( 
�
���%%�� ���%�



�������� ��
������ (��� ���������� ����
.������ ��

��
��
�; $ �
��������� ���� :7 � !7 ��2��Y

lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

∣∣∣∣∣
(
μ̂n(t)
σn(t)

)2

−
(
μ̂n(s)
σn(s)

)2
∣∣∣∣∣�ik

≤ lim
k→∞

lim sup
n→∞

kT +1∑
i=1

√√√√E sup
ti−1 k≤s<t≤ti k

[(
μ̂n(t)
σn(t)

− μ̂n(s)
σn(s)

)2
]

×

√√√√E sup
ti−1 k≤s<t≤ti k

[(
μ̂n(t)
σn(t)

+
μ̂n(s)
σn(s)

)2
]
· �ik

≤ C

√
sup
n≥0

E sup
0≤t≤T

(
μ̂n(t)
σn(t)

)2
√

lim
δ→0

lim sup
n→∞

E sup
0≤s<t≤s+δ<T

(
μ̂n(t)
σn(t)

− μ̂n(s)
σn(s)

)2

= 0.
5�:7
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lim
k→∞

lim sup
n→∞

E
kT +1∑
i=1

ωikξ
2
n�ik = lim

k→∞
lim sup

n→∞
E

kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

∣∣ξ2n(t)− ξ2n(s)
∣∣�ik

≤ |a2| lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

ωikσn�ik

+ |a3| lim
k→∞

lim sup
n→∞

E

kT +1∑
i=1

sup
ti−1 k≤s<t≤ti k

∣∣∣∣ μ̂n(t)
σn(t)

− μ̂n(s)
σn(s)

∣∣∣∣�ik = 0.

8 5"7W5��7 $� ���
���% 9 o]p �������2; ?�∫ ·

0

ξn(s) dX(s)
D[0,T ]→

∫ ·

0

ξ0(s) dX(s).

*���� �����; $ �'��
� �� ��'��
 ξn(s) �� X(s) 5
��� 5X77; ��2�� ������ $��(�����
�����
������ ��
Y{∫ ·

0

rn(s) ds,
∫ ·

0

μ̂n(s) ds,
∫ ·

0

σn(s) dW (s),
∫ ·

0

μ̂n(s)
σn(s)

dW (s),

∫ ·

0

( μ̂n(s)
σn(s)

)2

ds,

∫ ·

0

(σn(s))2ds

}
D[0,T ]→

{∫ ·

0

r0(s) ds,
∫ ·

0

μ̂0(s) ds,
∫ ·

0

σ0(s) dW (s),
∫ ·

0

μ̂0(s)
σ0(s)

dW (s),

∫ ·

0

( μ̂0(s)
σ0(s)

)2

ds,

∫ ·

0

(σ0(s))2 ds

}
.

5�!7
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���% 9�] o!p �������2; ?�

(αn(·)− βn(·))+I
{

max
0≤t≤·

Xn(t) exp
{∫ ·

0

rn(t) dt
}
< Hn

}
C[0,T ]→ (α0(·)− β0(·))+I

{
max
0≤t≤·

X0(t) exp
{∫ ·

0

r0(t) dt
}
< H0

}
,
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S�$������

Yn(t) =
(

1
2
σn(t)− μ̂n(t)

σn(t)

)
, 0 ≤ t ≤ T, n ∈ Z+.

_�(�; 
�� 
����� ε > 0 �� C > 0

E

[
(αn(T )− βn(T ))+I

{
max

0≤t≤T
Xn(t) exp

{∫ T

0

rn(t) dt

}
< Hn

}]1+ε

≤ E

[
S0

n exp

{∫ T

0

Yn(s) dW (s)− 1
2

∫ T

0

Y 2
n (s) ds

}]1+ε

≤ C E

[
exp

{
(1 + ε)

∫ T

0

Yn(s) dW (s)− 1 + ε

2

∫ T

0

Y 2
n (s) ds

}]

= C E

[
exp

{(
(1 + ε)

∫ T

0

Yn(s) dW (s)− (1 + ε)2

2(1− ε)

∫ T

0

Y 2
n (s) ds

)}

× exp

{(
(1 + ε)2

2(1− ε)
− 1 + ε

2

) ∫ T

0

Y 2
n (s) ds

}]
.

������2 ����������� ���
������ 
������
�� ����(���; � ���� ��'�� ��
���������;
$���������&� ��
������� +���
�
� $ ����$������ p = 1/(1−ε) 
� ��
&�'� ���(����
� q = 1/ε 
� 

�'�'�� 8����������� ���
��� 9�! o!p $���
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���
���� ���
���� �

���
 ��
��� $�$������; ?� $ �'��
� �� ��; ?�
∫ t

0
rn(s) ds .�'�
�2 � L$������� #���

��#���� ��
���; ��
 rn ��(�� ����'��� ����� $��(����� $� �����
����%; ��$ ����-
����� ��&�� 
�
������� ����� *���� �����; ��(��� $������� 
���� ��
�.���#�%
����
�
���� ���
����

�(&+(96 �� $���% ��
&��� &�� �� �����
�� ������ ����#���� 4
������� 5�7)
���
��#���� ��
�� 71) J1 �� 01 ��
���� 7 �� �������� ��
��(

]�7 (μ̂n(t), σn(t))) t ∈ TI ⇒ (μ̂0(t), σ0(t))) t ∈ TI ) n→∞*
:�7 supn≥0 E sup0≤t≤T |yn(t)| <∞) y = μ̂, σ2, (μ̂/σ)2*
!�7 limδ→0 lim supn→∞ E sup0≤t<s≤t+δ≤T |zn(s)− zn(t)| = 0) z = μ̂)

lim
δ→0

lim sup
n→∞

E sup
0≤t<s≤t+δ≤T

|zn(s)− zn(t)|2 = 0,

z = σ, μ̂/σ*

X7
∫ T

0
|rn(s)− r(s)| ds→ 0 �� %�
�������#	

+
�� Cn → C0 ��� n→∞	
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